

### Solution to Problem # B-1058

Ángel Plaza and Sergio Falcón  
Department of Mathematics, Universidad de Las Palmas de Gran Canaria  
35017–Las Palmas G.C. SPAIN.

**Problem# B-1058** *Proposed by M. N. Despande, Nagpur, India*

Prove the following identities:

$$\begin{aligned}(1) \quad & 9(F_{n+1}^4 + F_n^4 + F_{n-1}^4) - (F_{n+2}^4 + F_{n-2}^4) = L_n^4 \\(2) \quad & 9(L_{n+1}^4 + L_n^4 + L_{n-1}^4) - (L_{n+2}^4 + L_{n-2}^4) = 625F_n^4\end{aligned}$$

**Solution.** The identities may be proved by using Problem B-1044:

$$\begin{aligned}(3) \quad & L_n^2 = 2F_{n+1}^2 - F_n^2 + 2F_{n-1}^2; \\(4) \quad & 25F_n^2 = 2L_{n+1}^2 - L_n^2 + 2L_{n-1}^2\end{aligned}$$

Taking squares in (3) and using that  $F_{n+1} = F_n + F_{n-1}$  it is obtained

$$L_n^4 = (2F_{n+1}^2 - F_n^2 + 2F_{n-1}^2)^2 = F_n^4 + 16F_{n-1}^4 + 32F_nF_{n-1}^3 + 8F_n^3F_{n-1} + 24F_n^2F_{n-1}^2$$

The same result is obtained from the left-hand side of (1), using now also that  $F_{n-2} = F_n - F_{n-1}$ .

The proof of (2) follows analogously from (4), and using now that  $L_{n+1} = L_n + L_{n-1}$  and  $L_{n-2} = L_n - L_{n-1}$ .  $\square$

*E-mail address:* `aplaza@dmат.ulpгc.es`